Combined Graduate Level Examination 2019 Tier Il

[Roll Number

Candidate Name

Venue Name

Exam Date 15/11/2020

Exam Time 10:00 AM - 12:00 PM

Subject CGLE Tier Il Paper | Quantitative abilities

Section : Quantitative abilities

Q.1 A B & 20% % o 9T 1€ g 39a1 §1 B 37 C &' 30% & o 9T a=ar §1 C §& D & 10% #r
@ify o a=rar &) Afy B & w1 A # goar # T80 H#0w ¥, & D W A F wigar 7

Ans X 1. 700
X 2 ¥680
v F702
X 4 7652

Question ID : 8161615307
Status : Answered
Chosen Option : 3

Q.2 ; =
Tt 4_1v,§+:z_§—;$= a+bvZ ¥ ar (3a+4b) F A FT DT

Ans “1- 98%
<2 97
X 3. 992

<4 98

Question ID : 8161615291
Status : Answered
Chosen Option: 1

Q3 e gA FER (HEAGEE) Y T F AT AW B! F ATGT 3 m?, 12 m? HT 16 m?
2l & F gmar der F 79 T

Ans  of 1. 24000
X 2. 72000
X 3. 48000
X 4 36000

Question ID : 8161615359
Status : Answered
Chosen Option: 1



http://www.haryanajobs.in

Q4 fF 27(x+1)* —8(x—y)® = (x +5y) (A + By? +Cxy) & @ (A + B- ) & #ef 1 FraQ]

Ans X111
X218
X313
v 16

Question ID : 8161615327
Status : Answered
Chosen Option : 2

Q5 8x+3y=242¢+8=y 3N x-3187 & TE AW AT P &7 Avw (@7 FFE #H) T HiFw
Ans o 1 2Q

X2 15

X3 14

X4 24

Question ID : 8161615333

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q6 3 - 180f3 x6+21 X6 +18-3+2+3-3+90f3 %9 FT AT AT =TI
Ans 29

Question ID : 8161615279

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.7 &= v 3R 4 wfger Bl w2 7 7 Ra F = Fw €, F90F 2 79 ik 1 7w 7w w7 A4
o & X T &1 W AR 3 w1 @ e G F 9@ s

A o110 T
X212 fem
539 ﬁf,.r
x4 8w

Question ID : 8161615323
Status : Answered
Chosen Option: 1

Q8 A\PQR #, O =g ¥ 3k 2P = 42° 1 3 2QOR & 79 7 ST
Ans o1 111°

X2 121°

< 3 138°

K4 132°

Question ID : 8161615335
Status : Answered
Chosen Option : 1

Q9 frar #y g #r AR HY FT AT 52 I §| 3 F IR I A, §F i 30y, Ay Hr 3wy
#r ;@ 3@ ¥ 10 a¥ @, 97 3R R H 3g FT swera F @M

s of1.1:3
X22:5
K33:8
K4+2:7

Question ID : 8161615292
Status : Answered
Chosen Option: 1

Q.10 W 7 w% avg BFEE 75T W FET 20% F oA @ §) A I I8g # B AN A A A= A
3H 30% FT A gl T & 16 FEgT 1 A7 F7 7T A9 Hriew

Ans  of 131,280
X 231,120
X3 31,152
X 4 31,200

Question ID : 8161615308
Status : Answered
Chosen Option : 1




Q.11
AT x ('13?5+"12':'°)><"rﬁ g1 ar vx, ¥ e B

v3gse ~ 7es/ V1792
Ans J 5
1. gt
12
; 4
K2
2
: 7
K3 —
12
. b
K4 Z
9

Question ID : 8161615289

Not Attempted and
Marked For Review

Chosen Option : -

Status:

Q12 [i 0f2§x]§—(3§—2§)]+(3§+4§ 0f5§) F AT AT FHAT|

Question ID : 8161615285

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.13 2 2 2 " \ i 2
sec“B(2+tan“G+cot =)+ (sin“0—tan“0)
(cosecZ@+sec?8)(1+cot?8)2 F AT AT HIAT
Ans X1_ 1
v -1
X3 2
K4 =2

Question ID : 8161615362
Status : Answered
Chosen Option : 2




Q.14 as_ 1
e 53

at

T & T8 a, b 3N ¢ uAeHF WiF & T (4a- b + 30 F AW A How

T
=%
Ans x1~ 6
<24
v 5
X a7
Question ID :
Status:

Chosen Option :

8161615287

Not Attempted and
Marked For Review

Q.15 A 3R B, vfém AR 9= & femw #1 A ¥R B & oW Ak ofts & wegu FAe: 4 05 3102
¥ A F x deT F B F v e F wy e aer )  fwor F oeh st oftE F s
8 : 13 @ = &1 vy AT AT

K1.2:5
<22:3
vi33:4
X45:86

Ans

Question ID : 8161615316
Status : Answered
Chosen Option : 3

Q.16 zfr sin34 =
ey

X15
.
XZ'E

17

X 3 -
v 4

cos(A+10°) ¥, STET 3A 747 FI0T §, & 2cosec ? + 65in?34 — %tanz 3A T AT AA

Ans

Question ID : 8161615368
Status : Answered
Chosen Option : 1



http://www.haryanajobs.in

Q.17 R 7w o6 &7 sregga U A3 9 R oo g w7 sew 4

Ans

HUAT & qre fasmEl (A, B, C, D T E) ¥ A & @ dAEr @ far (Ea &)

mA 2B «C

+D mE

AT T T WEA = 3000

X 1. 504
X2 458
X3 486
v 492

3T B Fd=fal & Fw, B D R E F w1 w9 At f g de & el
SR &7

Question ID :

8161615376

Status : Answered
Chosen Option : 4

Q.18 frelr o 3w 1 o TEW SR 3696 om? ¥| FE TS sEH Trean & A I ) do A armer

(FreT #) 7= e (=2 #H)
Ans 1. 19.008
< 2 2975
Vs 25872
< 4 30.87
Question ID : 8161615357
Status : Answered
Chosen Option : 3
Q.19 2 2
0.0203x2.92 (12.12)*—(8.12) ﬁﬁ
0.7X0.0365X%2.9 (0.25)2+(0.25)(19.99) =l I
Ans o 1.0.05
<201
<305
< 4 0.01
Question ID : 8161615284
Status - Not Attempted and

Chosen Option :

Marked For Review




Q.20 forely o e o F Fream At Sar$ F I 3 0 4 1 IR FEA I T AN (am® H)
240 7 &, @ THH HEEH (cm® B) AT P

Ans  of 1. 768 T
X 2 1536 m
X3 2304 1t
X 4384 1t

Question ID : 8161615351
Status : Answered
Chosen Option : 1

Q.21 \ABC #, <A 77 g D WX 8= BC # gfa=ofim =tar &1 77 AB = 12 cm, AC = 16 cm 3T
BC = 18 cm &, &1 BD #r #ams =g F:fewl

Ans X 1. 9.6 cm
<29 cem
<375 em
v+ 8 cm

Question ID : 8161615339
Status : Answered
Chosen Option : 4

Q22 3 pikcdmsemiamiacd2sFdiadhbamsfimassti o d cd10F8E T c
3T d # stEe 7= S

Ans 1. 36
v'2 40
X3 38
X4 35

Question ID : 8161615325
Status : Answered
Chosen Option : 2

Q.23 80 km/h #r e ¥ @ e 287 m wd Yoond, RdE Raw & 37 kmh H T F 99 @ gEy
TEETEr BT 18 WEE F I F &1 gud s fr s s S

Ans X1 285 m
X 2289 m
v 268 m
X< 4300 m

Question ID : 8161615317
Status : Answered
Chosen Option: 3



http://www.haryanajobs.in

Q.24 frT 7w IF F eTTF FT I A /U 0 997 7 351 &)
Revenue and Expenditure (In ® Crores)of a company XYZ from 2014- 19

wfeverue @ Espendeue

- 58 B E B & &
g

m 20

Amourt (in crores )

o 21 ni a0 o 018
Years

2015 3 2017 # Fo 3™ (revenue), 2016, 2018 X 2019 & &= & Fo =77 (Expenditure)

#1 e gfdera & (ZeAeE & &2 U T S& AT H1)?

Ans  of'1.88.2
X< 2 891
X3 86.3
X 4 86.5

Question ID : 8161615374
Status : Answered
Chosen Option : 4

Q.25 A ¥R B 7 7, ¥AW GAT T FAW: T X HR Y & UF gEy A 6 g9 o F w0 8 A #
m,Baﬁrmﬁm%aﬁmhmﬁﬁaﬁ%m,Aaﬂ?Ba;’rm:YaﬁTXqugaﬂﬁm

p iz A 71 w2 s §1 p @ ww T B
as 1B

<26

<355

X445

Question ID : 8161615320
Status : Answered
Chosen Option : 1

Q26 (2.2%0.6x3x0.16) X [0.27 % (0.83+ 0.16)] FT AT AT HfAT
Ans X1 0.814

X< 21.36

vi11

X4 0.11

Question ID : 8161615283

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q27 cosA(sec A - cos A)(cotA + tan A) =
Ans X 1. sin A

<2 cot A

< 3 sec A

v+ tan A

Question ID : 8161615361
Status : Answered
Chosen Option : 4

Q.28 Ffy 250 & (x + 20)%,220 F x% T 25% 3k &, aF (x+50) &1 10%, x & 15%
¥ o gfora &7 geme?

Ans 2

v 162

3

X 2 332

3

X3 132

3

1
<48z

Question ID : 8161615294
Status : Answered
Chosen Option : 1

Q.29

Ilﬁ'secﬂ‘— biO%‘H‘rlt‘mH

2—sin%@

Ans 2 2 2
x 1 a“(2b + a*)

bZ (az [ b?.]
b*(2b* — a?)
a?(a? + b?)
a?(2b* — a?)
b?(a? + b?)
a®(2b* + a?)
b?(a? + b?)

X 2

v

Question ID : 8161615365
Status : Answered
Chosen Option : 3




Q.30 mAmyor 3x 20y -2=0 3R 11x-5y+61=0 F 7%, P(a,b) I Fa=ofea #ar &
(a® + b* —ab)/(a® — b® + ab) F A AT HIfAT

Ans 31
v =
41

41
31
: 5
- N
7
37

p
5 35

X2

Question ID : 8161615332

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.31 foh avg =1 3T HET, 3WE FT HET W 40% M ¥ 2R g Fww wew, e gem A 73%
%, @ s gReE W AT

Ans of 1. 2.9%
X2 2.4%
X3 3.1%
X4 2.7%

Question ID : 8161615310
Status : Answered
Chosen Option: 1

Q32 3fAm, 3T qeu W 12% GE & & a1¢ el avg 1 1369.60 # &war ¥ Iy 30 FE ge 7 &
B & 3/ 20% F WA BT TG FOFT qFF G A=A

Ans X 1. 7380
X 2 320
V= F350
X 4 F400

Question ID : 8161615312
Status : Answered
Chosen Option: 1




Q.33 2r uaATeRs Wt &7 ET 1280 ¥ 7§ 2 T F ol e ¥ Faiee e 9 g & aveee
7 3T dwwer 50 9IoF BAT &1 657 HEd1 AT S

Ans X 1. 1585
X 2 1558
X 3 1458
v+ 1485

Question ID : 8161615281
Status : Marked For Review
Chosen Option : 3

Q.34 = IX ¥ Fwer A 3 B ¥ 90 o=t &7 o # sitwm =K 63 ¥ 9w A F TS Fr wE, S
B % o & FEw F 10 30w §1 A F o § e 3F, d9vw B ¥ o # g & 30%
#Ow ¥ FFE B F o ¥ 3T i w9 i

At of 1. 54
X2 50
s 56
<+ 60

Question ID : 8161615326
Status : Answered
Chosen Option : 1

Q.35 Ry 7aw § 5 ADEF~AABC ¥1 of¥ AABC & &% 9 cm?® 3T ADEF &7 9%« = 12 cm® AT
BC = 2.1 cm &, & EF & v&s &g Ffew)

Ans Jl ?_Vrg

—CIlt

5
K2 4ﬁ

X3 3ﬁ

X 4 8v3

Question ID : 8161615341
Status : Answered
Chosen Option: 1




Q.36 ABC # D 3R E #Fr: 31 BC 3K AC & 7ug g #1 7fF AD = 10.8 cm, BE = 14.4 cm 3X AD
3t BE ¥AITT W G W Tfasoied &< &, ar AABC & &9%e (cm® &) 7a e

Ans X 1. 56.76
X 2 53.76
V2 103.68
X 4 80.64

Question ID : 8161615338
Status : Answered
Chosen Option : 2

Q37 X 3RY, 3:5 % ua & N & Wy weiEdy F &) 5 7N A, X el 9 F 50% Shser g,
Fefh Y A9 G T 60% foeprerr &1 26.84 W@ & i wmst A X # REwr (@ amw #) A
o]

Ans X 1.3.12
X236
vz 372
X4 42

Question ID : 8161615314
Status : Answered
Chosen Option : 4

Q.38 urEy A 3t B, ot & 1 FAT: 43.2 e 3 108 e # sw w%a §1 989 C 3¢ 3 devfAee
# 2T ¥ WA T TFHAT | 59 A OB UF 'Y @ Sy & a1 § & #7754 fAme F wwm {1 &R
# &7 (FeT &) 79 A

Ans 1. 200
< 2160
v 216

#4180

Question ID : 8161615322

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.39 ofx ol 79 eI a9 & AR Fr = 7 20% #r e @ § A IS F 30% & wa g g
ar smaae # g sfowa gfre e s

Ans X1 2% FAY
X2 2% IhE
<3 0.8% FAT
v+ 0.8% 3fE

Question ID : 8161615356
Status : Answered
Chosen Option : 4




Q.40 5500 Fr UfYr oy T 15% F T F 2 T & 9o THIE =T 719 R, 77 =W F 0= T
8 FE W Tegfa YR W H A F

Ans X1 ¥1,850
< 2 31,880
< 3.31,773.75
v 4 1,820.50

Question ID : 8161615304
Status : Answered
Chosen Option : 3

Q41 6 cm arew frsar A MaR uifess A F1 a9 6688 g ¥1 IR wig F gweT 105 g W om®
ar &= Fr Aer 79 FfT

m=Z &

7

Ans o1 2 cm
<24 cm

X3 2% cm
<43 cm

Question ID : 8161615354

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q42 3% =ofes Tl PARST o A A AT R F A3 : 42 5 F e # oS w31 ofy
3H SW AR L0 1i L F e o Rnafew T @, & 6 3w 4 A, O 9w v sa
fewar Byar on, 3@ 71,188 3w e ofr @ &) 79 $f5w

A

" 1 6,768
< 2 6,840
< 3. 5,640

< 4 7,008

Question ID : 8161615300
Status : Answered
Chosen Option : 1



http://www.haryanajobs.in

Q.43 40 km Fr gy T W A, A T B § 2 O HOF oo § AT A T TF B IR g, o 3

wkmﬂ'q&mmﬁﬁaﬁwi o 3w s §1 90 km #r i 77 = F e, B Fr 3w 36
o § fFaar gEg w@em?

Ans =

?{mli er
jz.li oeT
X 3 12 e

31y

- 1
<l

Question ID : 8161615319
Status : Answered
Chosen Option: 3

Q.44 Ry 71w aE F HewwA F1 AW H B 7w 907 # 30 8
it & o ot (A, B, C, D 3T E) A w1 o W St @ o (el A

sA aB «C oD =E

w1 FE ' = 3000
g BHET E F F F7 a 20% SHAEr @ Feer A F Tueaneg &% B osmar § o Remr A #
FHET $r g T e © # IR 124% FHEE F @9 3E 79 Fiew)

Ans X1, 60
X 2 64
V'3 54
X 4 50

Question ID : 8161615377
Status : Not Answered
Chosen Option : --

Q.45 ool R &, ot B wwar @ 2 e mERa AR O o ¥ awet B Gea & o fed 10 98

¥ F7 ¥ ot wsfrat f w1 sk 10 = @ w E AR 10 A 1 sE R g A ot A
FEar 260 g, ot Remem & F= fr g 7w fifvw

Ans 1. 280
V2 300
X3 312
X4 234

Question ID : 8161615286
Status : Answered
Chosen Option : 2




Q.46 s foafda Tt &1 o= BA 3R DE & F W fem= & v Reaia fear smar @1 <EFA &
AT 1 FfEwl

Ans X 1. 72°
X 2 60°
V'3 36°
X 4 54°

Question ID : 8161615347
Status : Answered
Chosen Option : 3

@47 AABC &, «A - 2B = 33°, /B - «C = 18° ¥l

s & W o 3R WA o F0T F Ava e A
Ans 1. 143°

X 2. 108°

V'3 125°

X 4 92°

Question ID : 8161615336
Status : Answered
Chosen Option : 2

Q.48 =¥ AfFag TRr 12% T AIReT =a1=r #r 2T W 2 ¢ F 715,500 & =0 &1 T =@t $r T

3 T TR IR T H T E, @ TG AR 10% TS W R 12 I F e @ s
R1 ¥ RAFeasw 7 F)?

Ans 1. 315,125
v 2 314,470
X3 314,360
X 4 313,460

Question ID : 8161615303
Status : Answered
Chosen Option: 1

Q.49 R a0 mB P IsER AT MER . swRgm s smdaw
FAr . A O T A a9 gl F 77 R F Qe swh T (kmh #) 719 Hfdw

Ans X1 8
X26
X365
v 64

QuestionID: 8161615318
Status : Answered
Chosen Option : 4




Q.50 ffr v Rfds =1 3MUR 10 cm o= T T F) AR FEE FE 10 em §, A FHH T THT
ETFT (em® F) 71T FfET

110045
X 2100(vV5+1)

X< 3 5045
X 4100

Question ID : 8161615349
Status : Answered
Chosen Option: 1

Q.51 ) 2
sinB[{1—tanf)tanf+sec-H]
(1—sinB) tanf(1+tand)(sech+tand) ’ + %I
Ans x 1. =1
v 1
< 3 sinB cosb

X 4 cosecH sech

Question ID : 8161615360
Status : Answered
Chosen Option: 2

Q.52 el viw Riswr &7 IUR 5 cm =1 AT W BATHT Sese §) IR THA FOrs 123 om &, A
EEFT HFET (em?® H) 79 AifFT)

Ans - X1.1800
X 2 675
V2 1350
X 4900

Question ID : 8161615348
Status : Answered
Chosen Option : 3

Q.53 A 3t B ==t Fr Fswmat = Iewe 14 cm £, A F = B F few ¥ 5% &) 3% e dvwat
& & w7 et 112 1 §1 A 3k B & smaemt & s we Afaw

Ans X 1.8 : 1
X227:8
Vs 64 : 27
X< 4125 : 64

Question ID : 8161615352
Status : Answered
Chosen Option : 3




Q.54 cos®0+sin®0+3s5in20 cos?h

cosec@secl (sinf +cosf—1)(sinf +cosf +1)
Ans x 1.1
<23

FT AT AT FfAT)

1
2
xa2

Question ID : 8161615364
Status : Answered
Chosen Option: 3

Q.55 =& 1062, 1134 3ikv 1182 & 78 & o wear « ¥ Rwlog B smar &, & vds A & dwwe v
e AT # (v — ) & AW A e

Ans X116
v 218
X317
X419

Question ID : 8161615282

Not Attempted and
Marked For Review

Chosen Option : -

Status:

Q.56 v 7T I FT IeTAT FL T AT BT 0 w27 F IR/ &
Revenue and Expenditure (In ® Crores) ofacompany XYZ from 2014 - 19

mfsenve @ bmpendnure

Amount (in crores X)

2004 215 2016 2097 018 2018
Years

&8 a¥ & 317 (revenue), 2014 & 2019 F 2T F= F 35T =o¥ (Expenditure) &

33:% sfew 42

Ans X1 2016
X 2 2015

v 2018

X 4 2017

Question ID : 8161615372
Status : Answered
Chosen Option: 3




Q.57 Rr =1v ImF FT T F 3R AR BT 0 w97 F7 359¢ £

ET F ITTAT H TS FET @
AL & R (3T HFER)

=i o wET

1 20 30 40 50 60 T 80 %0
anig @l #)
10 a1 s8¢ ¥ ¥ Aftka 40 a8 & &7 g @ 7S & FE, 50 a¥ o I Hw Ak 80 a¢
¥ &7 g a A fr v ¥ e sfew w1 2

Ans o 1. 275
X2 25
X3 302
X4 34

Question ID : 8161615371
Status : Answered
Chosen Option : 1

Q.58 felr o Jelw OF F HUR F AFES 81n em? ¥ AR TR FAE 12 om ¥ OF F IF T
gEer (cm® #) Aig T

Ans o 1.135 ©
X2 144 ©
X3 108 m
X 4126 m

Question ID : 8161615350
Status : Answered
Chosen Option : 1

Q.59
(1_1) 1 . 1 =2

cosf sinf cosecl—cotf secB+tanf
Ans 1. sinB tané

X 2 cosech cotd

# 3 sinf cosb

v 4 sech cosech

Question ID : 8161615363
Status : Answered
Chosen Option : 4




Q.60 AABC 3T ADEF &7 9RATT Faer: 43.2 cm 3T 28.8 cm ¥ 3t AABC~ADEF #1 o DE = 12 cm %,
@ AB & sEE AT dife

Ans - X 1. 20.4 cm
<2184 em
v':18 cm
< 420 cm

Question ID : 8161615342
Status : Answered
Chosen Option: 3

Q.61 2 = g ot A et #1 e 3 @ 2 ¥ R 39F A oI 27 ¢ 16 ¥ 3A
FarEEt F 3T T A

s of1.3:4
x28:9
<34:3
K49:8

Question ID : 8161615358
Status : Answered
Chosen Option: 1

Q.62 == =T 7159 (light house) & o & WAF o & 12043 m 7T 3TT v &, & $0hT AW M W@
SETST W HIAHA FIOT 30° F 60° Y ST ¥ Heeieha HA F A FETS @R 79 S T g
T ffFT)

e X1.180v3 m
v'2 240 m
<3 240/3m
<4180 m

Question ID : 8161615370
Status : Answered
Chosen Option : 2




Q.63 frv =1 IMF F HUTTA FY AT A R M0 To T F 3=/ T

Revenue and Expenditure (In ® Crores)of acompany XYZ from 2014 - 19

mRevene  @Ependoue

Amount (in crores ¥)
s 88 B ¥ 8

fraer st &, 31 (revenue) Wiaed ¥ ¥ &F =T (HT&(revenue) - =T T(Expenditure)),
25% ¥ ¥fosw ur?

Ans X1 1
X23
X3 4
v 2

Question ID : 8161615373
Status : Not Answered
Chosen Option : --

Q.64 cosec?30°sin®45°+sec?60°

FT AT AT FITATI

tan60°cosec®45°— sec260°tan4s®
s X1 32+4/3)

V2 -3(2++/3)

X320/3-2)

K4 —243-2

Question ID : 8161615367
Status : Answered
Chosen Option : 2

Q65 15 cm fawar e arw wifewss sl @ Rrwerar seT & 3T BT Te e 3 om s @ awmET
iz am$ Sl F| AT M F I aEwe AR W A F 8w AIne & e F g

T ST

ans - X111 10
X25:27
v1:5
X43:40

Question ID : 8161615353
Status : Answered
Chosen Option: 3




Q.66 = x #r 9, 15, 21 3 31 # ¥ v¥% F g =w &, F 7 FEAW FATS F A ) FE=w
(Bx-2) AR Gx+4) F &= AT 7@ HAwl

Ans .,1. 35
<220
<3 42
<4 30

Question ID : 8161615299

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.67 ABCD v# =i wg8= &1 v BD 3 AC v g@Y # E W viawofed #a §| 9% «BEC = 128°
3T LECD = 25° &, @ £BAC & A9 7 E v

Ans 51 50
X 2 98°
V'3 103°
X 4. 93°

Question ID : 8161615344
Status : Answered
Chosen Option : 3

Q.68 fyrof, 3t 3w F1 x% TN &1 TG sWH T F 26% Fr fF v § AR www F 20% H I
T &, & 3EH a=a # 50% Fr I A § 2 = A 7w Fiiww

Ans X110
X2 30
X3 25
v 4 20

Question ID : 8161615296

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.69 A, B ¥ 80% 3w ¥ 3t C, A 3R B & dvTea & 482% FR ¥ C, A ¥ Rraw wfone &/ 82
ans K125

<2 30

V'3 20

X415

Question ID : 8161615293

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q.70 zfy 5 3iet arelt wwT 535ab, 3, 7 AT 11 @ Rersw &, & (o — b +ab) & AR A HiSw)
Ans JL 95

X277

<3 89

< 4 83

Question ID : 8161615280
Status : Answered
Chosen Option: 3

Q71 oFgamga A BCTME BCHF A Ror A g w gD i Asw e £ &
+DBC = 28° 3T BD = DC % «BOC = A9 7 g =)

Ans X1 98°
< 2 96°
v 112°
x4 84°

Question ID : 8161615343
Status : Marked For Review
Chosen Option : 3

Q72 A frer w18 #1156 RF # 7T Twar §1 B, A F goen # 25% 30w e § HR C, B Fr goew &
WhIFEFEE AR C o Tl Ra s st s i AR C s o aa &1 A 3l B
T WY AW F F e fw F 9 w6

Ans x14'ﬁ‘c‘,?l'
v23R=
X 3. 3% IrGi
X4.2% e

Question ID : 8161615324
Status : Answered
Chosen Option : 2

Q73 g a+b+c=6,a+b*+c*—3abc=342% @& ab + bc + ca F AF T DT
Ans x15

X8

X3 -5

v =7

Question ID : 8161615330
Status : Answered
Chosen Option : 4




Q.74 e & wrw R wafes #1662 % ¥1 afy 3% o Alsg wfew ¥ 30% A Hew 31,25,000 &, A
wafeq & 45% #r FrEg @ #) 79 FiEHw

Ans X 1. 2,25,000

< 2 2,70,000
3 2,81,250
< 4 262,500
Question ID : 8161615295
Status : Answered
Chosen Option : 3
Q.75 7 15(y10+45) > %‘|

V10+y20+v20-v5—B0 * —
e XK1 5+4242

< 2 5-245
v 3 5(3+2v2)
X 4103+ 2v5)

Question ID : 8161615290

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.76 et BrF oA &1 FAE 30 cm ¥ T TEF U F oEarH 10 cm Bl 92F 5 cm =2 3T 12 em
518 % 3@ FAW AR B R o §1 9w 3 # 8T 8w (em? #) we Afdre

Ans  of 1. 430
X2230
X3120
X 4330

Question ID : 8161615355
Status : Marked For Review
Chosen Option : 1




Q.77 A, B 3R C #15 =5=aT ¥ F<a &l A F o &7 & 71 B ¥ Ty & & = 3w @ &
C & foder & uig ¥ & & ¢ of v I ag o7 A S5 AW R, A A A B F+
fermr R smw &) 79 fifFw)

Ans 1§
x23
X345
X475

Question ID : 8161615313
Status : Answered
Chosen Option : 1

Q.78 A 3t B & afle a7 &7 39 3 : 5 ¥ 3N 3 q9G 9T 2 : 3 ¥ IR B F 3w Ay
T & @ A F W B, & A AR B F =T F 3 A P

Ars of1.8:15
X23:7
K711
X4+5:8

Question ID : 8161615301
Status : Answered
Chosen Option: 1

Q.79 foelr 97g W 30% #9 qo0 ¥ 35% ¥ Hpw Hfea TR orr &1 afg g @ e 20% w s
gt g, @ a5 & i gea W R wmr ge gftea a9 Aifsw

Ans XT 120}.-'0
X2 103%
Vs 113%
X 4 15%

Question ID : 8161615311
Status : Answered
Chosen Option: 3




80 afE 3x2—5x+1=0%8 ar (x2+$) FT AT AT FST)

Ans 2

r AR =
3

| 1
X2 2=
3

. 1
r R
3

1
Y ER
9

Question ID : 8161615329
Status : Answered
Chosen Option : 4

Q81 3fE (10a® +4b%): (11a* —156%)=7:5 &, @ (3a + 5b): (9a — 2b) = ?
Ans X 1.8:7

V210 : 13
<33:2
K<45:4

Question ID : 8161615298
Status : Answered
Chosen Option : 2

Q.82 Fm uATER® T v,y AN 2 31 F FwfEa fwr s & & s 17, 24 3t 27 Awwe weg @
g 9 (4x—2y+3z) F 31 ¥ TnfeT o 5= & o 902 9uwe w9 ffeT

Ans X119
X229
X3 16
v g

Question ID : 8161615278
Status : Answered
Chosen Option : 4
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Q.83 ofr, WO H TWIF TG auaT & Womdm A A A @ gt § v o & wnr F0 ¥ TR O
TFg 162% @ @ler T & o7, & gl awg feew oTe W w2

Ans XT 163%

X2 13&%

X3 24%
W' 1 25%

Question ID : 8161615306
Status : Answered
Chosen Option : 4

Q.84 fadir oftem & Remrerw X & Fo oF AT gU AT 30% T Hgenor gUl 3 wdew F Regew
X & ordt #r geren F 150% 3w o, Regrm ¥ & ofde g 3Rk X ok v @ wfae ge ont
A Fo TEA F 80% FeN0T U E, A Y W et gr o w7 g A HfFw

A of 1. 16
<220
<3 24
<418
Question ID : 8161615297
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.85

2 sin238°sec?52°+cos 64° sin26°+sin’64°
tanZ23°+cot?23°—sec?67°—cosec?67°

3
?{'1.E
X2 =2

—3
J3-7
X a2

& AHF AT FIAAT]

Ans

Question ID : 8161615369
Status : Answered
Chosen Option : 3




Q.86 42 9 kg Froa @S e kg wraw # 20 ¥ kg Frw T 72 kg T F Fr Berw Awee,
aTfer aioTHET AT @ 353,10 9T kg F S F F=eN 18% T o Miea T o w7

Ans x 1. 8
<29
1
W3 12-
2
s 1
X 4 10=
2
Question ID : 8161615315
Status : Answered
Chosen Option : 4
Q.87

APORH, £Q=90° ¥ ofr cot R = & & ay —=LCosktsinP) o o s S

2 cosec R (sinR—cosec P)

Ans 2
Vi
. 2
Xz._§
. 2
X3.§
. 2
X4.§

Question ID : 8161615366
Status : Answered
Chosen Option: 2

Q.88 gatay Il Y 2 spemat A FATE 3 em 3R 10 om Bl FAR IS F ROl F T 7 ATET
e ffaw

Ans 1218 cm?
< 2 169 cm?
#3109 cm?
< 4 206 cm?

Question ID : 8161615346
Status : Answered
Chosen Option : 1




Q.89 APQR &, 2Q = 84°, «R = 48°, S WT PS 1 QR ¥ 3R <P 7 cfsied T W QR & &= &1 2SPT
F AT FF FiAT|

Ans 1 18°
X2 24°
X3 21°
X4 120

Question ID : 8161615337
Status : Answered
Chosen Option: 1

Q.90 InAABC, £A=90° AD is the bisector of £A meeting BC at D, and DE L AC at E. IFAB = 10 cmand AC = 15 ¢,
then the length of DE, in em, is:

Ans x1_ g
V26
< 3 6.25
<475

Question ID : 8161615340
Status : Marked For Review
Chosen Option : 3

Q.91 g, F weiy 3uR e § AR W T4 35,547 F & BAW A Ghedt # Al §1 @ A

mmﬁaaﬁ%mw#mtuﬁ:ma?%%aﬁﬁtwmmww:m
gﬁrmmaﬁﬁvl

Ans 11,096
X 2 1,144
X3 1,126
v 31,134

Question ID : 8161615305

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q2 s R T I FRTIN TRF TR T4 FRv s ais TR 79 F o
12% =¥ &0 9T Ul & S §1 IfF 11 =% fr 3= & gog W s, 327,600 §, & ufer
R &) 7= ffFw

Ans 1. 27,000
< 2. 25,000
v 3 30,000
X 4 32,000

Question ID : 8161615302
Status : Answered
Chosen Option : 3
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Q93 Ffr 9x24+y2=37 3R xy = 2,5, y>0 & A 273 +y%) F AT AT DT

Ans X 1207
v 217
X 3 259
X 4. 301

Question ID : 8161615328
Status : Answered
Chosen Option : 2

Q.94 forglr favesy =7 3o, @ ¥ 3 A ¥1 S s F 5 ST Ay ¥ N T ¥ 2 wErwn W §, A e S
amhm:@'maﬁsg ¥ famfeg fFr sman &, & 9w B A A

Ans . 3
de—}

- 2
Xz.g

. 1
?{3.E

1

14.:}

Question ID : 8161615288

Not Attempted and
Marked For Review

Chosen Option : --

Status:




Q.95 R 1T 77w w7 aremae w3 S R v wew w7 s £
wOAT & 9 R (A, B, C, D 3R E) & WA W 1wt @ o (el &)

mwA 2B oC «D uE
FHGNET T F T = 3000
o A 3T C & @ Feer arer it #r Fo e, e B s D # a1 F arer it $r

T BEN F x 3T E o F AW fws 4 gem

e 44 3R 52
<2 28 3T 36
<3 36 3k 44
X 4 20 3T 28

Question ID : 8161615375
Status : Not Answered
Chosen Option : --

Q.96 et @wg @7 3123.40 & A= W WoF o, S 7108 F AT & A1 @ H T F 20% FEw T
oy a=g @ ¥120.75 & a=n 7, & st gfave = Hisw

e X gy 5%
v 2 e 5%
X 3. T 2.5%
X+ g 2.5%

Question ID : 8161615309
Status : Answered
Chosen Option : 2

Q.97 A R Frr 7 20% 4 R & U F Fowaw ¥, B 3 FE F33; %, 10 R A @ A wHr ¥ 39
RTF T TF O FT T 1 C A9 FE H 6 R F 97 N 41 B 3R C v WY 3 FT F
76% forcar e 3 o S

e K115 R=
v'2 10 &
X312 fam
X149 e

Question ID : 8161615321
Status : Answered
Chosen Option : 2
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Q98 AABC #, £C = 90° &1 87 AC 3R BC R #Faer: Rig P it Q s@ v & &

AP:PC=BQ:QC =1:2 8 a‘r,AQZ;fPZ, % e aem
Ans 13
JIE
4
Xz.a
8
Xs.g
4
X4-§

Question ID : 8161615334

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q99 0 #z = 3= &, =W AB F 37 ¥ IR BT v Rig P 7w WfEa B s ¥ sk P,
grd W fug fig ¢ o T Y@ #) afE 4BPT = 36° &, @ 2BCP &1 719 g W

Ans XL 249
V2 27°
< 3 36°
<4 18°

Question ID : 8161615345

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q100 o aram ¥ x® —34x* +1=0,x >0 @ (x3 +x~% ) F AT 7T DS
Ars X1 6V8

<2 56

X 3 6V6

v i 58

Question ID : 8161615331
Status : Not Answered
Chosen Option : --
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